L/ﬂd-

Review Worksheet 1

1. Simplify.
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2. Solve the following equations:
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3. Graph.
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6. Write as a percentage.
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7. Translate into an equation or a proportion and solve. L TO0
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a) 40 is what percent of 162 X 40 Y= 4L M =127 0O /W
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b) What percent of 200 is 250? X 5@, ¥ = { /2 5/% /,)
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¢) 35% of what number is 120? _3”5:_ _ _!_20/_ } X = 342, %,J
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8. A population of rabbits grows at a rate of 3% per year. If there are 10000 rabbits now,
how many rabbits will there be in 2 years?

|0 000 »).0% = (0300
lo 300 x .03 =[]0 10 609]rabbils

8. Pat's Salary before two 10% raises was 50,000. What is Pat's salary after the two
raises?

So000« 1,10 x 1.10 =P 60 S00

9. Tom's salary after two raises of 10% was 48 400. What was his salary before the

raises? _ oo 110 = 4900
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Review Worksheet 2

1. A cube has a volume of 125¢m3. Find its surface area.

L o =
L = =600 -
16,25’ = /J_OCN”

2. A cube has a surface area of 726cm?. Find its volume.
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3. The sum of then edges in a cube is 48cm. Find its surface area and volume.
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4. The base area of a prism is 18cm. its volume is 360cm®. Find its height.
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5. A square based prism has a height of 10cm and a volume of 160cm’. Find its surface y
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6. A cube has a side of 6. A prism has dimensions of 2 by 3 by 5. Which one has a bigger
volume? Which one has a bigger surface area?
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7. Find the surface area and the volume of a cylinder inscribed in a square base prism with
base are 16 square cm and height 10 cm.
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